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The splitting of white light into  its wnstwt
colours is called
&

A reflection Q

B: diffraction K4

C. refraction Q}(o Q

D. dispersion. Q ’O'Q QO

A plastic bottle was plased Q’m% s carton and

insulating material put u@the bottle as shown

in the diagram '_ne_inw_('(h%{g&ﬂc was then filled with
4 K

‘hot water. S

Cork’

Insulating material

Plastic bottle

L——— Hot water

Carton

Which one of the following would help keep the
water hot for a longer time? 3t S
A, Putting a lining of aluminium
carton. T
Using insulating material with large air spaces.
Using black in;ula.ti_r_sg_m:ncriq]_-

Using a metal box instead of a carton.

foil around the

C.
D.

The diagram below represenis 2 set up that can be
used 1o demonstrate a certain effect of electricity.

Battery

— Copper-wire-

J

Srrand of steel wool

The effect demonstrated s made use‘of in making-
A electromagnels

B. light bulbs

. switches

D. conduclors.

The function of haemoglobin in the blood is 1o
A
B.
C.
D.

fight germs

transport food substances
cause clotting of blood
combine with oxygen.

Which one of the following pairs of plants has root
nodules?

A. Tomatoes and beans

B Cabhage and millet

. Groundnuts and peas.

. Maize and potatocs.

%

X

&l

6. Bile mixes with food in thi:

A stomach ~
B, duodenm = = =
. small infestine

D. large intestine,

T

7 Which one of the following is likely 10 happen 1f a

disease gradually kills antelopes in & grassland

inhabited by lions and vultures?

(rrass Lions Vuoltures
A, Increase Decrease Increase
B, Decrease . Increase Increase
. lIncrease Increase Increase
. Increase Decrease Decreass

which one of the following plants has roots similas
to the type found in carrots?

A, Onion. '

- B Cassava.

. Sweet potato.

D, Arrow root,

Q. Thé table below shows charaéteristics * of  some
i invertebrates,

£ S RIS o e e RS

ol Name ~Namber of mumber of
’_ body parts I legs
DA e ]l_ i
|_ ¥ 2 ] B
o e Waspuied Pt oo L L_: B

X, Y and Z represent

X Y Zz R
A8 cock mach It in F.
B. 6 spider 2
C. 6 frcke s 3
D &8 crab 2

10(0. The mass of | e of 4 substance 1571fs
A, volume
B density
C. weight
Iy, surface area.

11. In which one of the following methods of separat
would only one substanct be recovered from
mixture of two substances?

A. Ewvaporation.
B. Filtration.
. Decanting.
D. Distillation.
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12. Which one of the following materials can ?‘&\

recycled? s2i
A Ash. : rb,o
B. Cowdung. X

C. Colfee husks. \ (Q

). Scrap metals.

é9 <

In 'n'rhiLI'! one-of- the Follﬂ ;ﬁn%})f levers iz the
arrangement of the pm.:"i"i@& fulcrum  and
effort the same?

A Crowbar and whm{&r’g&v

B. Pair of scissors qn(:ﬁ §@u cutter.

C. Fishing rod s

D). Mutcrac

13.

balance.

n& incers:

14. the ID!l{}wmg weather INsLruments
DOE '@4 ork-on the fact that matier occupies

Which oﬁg?%\

5P,
Q%ﬂn Zauge,
'&% Ar thermometer., el e
&\ Windsock. e

\ . Windvane.

4\15 The soil that can be used to make long r[hh(‘.nn'-; has

A. cracks, when dry
B. large air spaces
. rough texture
D low capillarity.
16. The diaé_ram below represents a circuit.
Which one t::l the tol]ome statements -is TRUE
about the circuit. The .
A bulb uses power [rom three cells
B. bulb uses power from one cell
C. cells are connected in series
13 cells are connected in parallel.
17. Which one of the following paifs consists of

renewable sources of energy?
A Firewood and kerosene.
B. Waterfall and petrol.
. Biogas and charcoal,

D. Wind and coal.

N

45

%

X

18.

dpupils®

Ceomducted in metals

The diagram below

represents a set up used by
‘o compare”

the rate &L whmh heat is

19.

LA ron

Pupils would make wrong conclusions if they used
A metals of different thickness -

B, different types of pins.

C. metals of different lengths -

D different types of metals. -

The, diagram -below represents a straw fitted in an
airtight glass bottle containing a liguid.

Suck up+

Straw

_Tight cork s

5 PR

- == |iquid

o i _—1— - Bottle
= = o
=

The sucking of the liquid 1s dif "cult because

A the straw does not reach the bottom

B. the liguid does not fill the botile

C.. the air mside the straw prevents the liquid from
rising

[} air pressure does not act on the hguid.
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20. in an experiment equal amounts of the foll zgg\
pairs of liquids were put in four identical co wm:rs
(i} Kerosene and pure water, S

{ii) Salty water and kerosene. ((\

(iii) Pure water and engine oil. O
{iv} Methylated spirit and engme

@\

cﬁg

A fresh egg was then placqu‘ @ch container. In
which container would {he NOT sink to the

bottom?
A. () 4\9 QeQ
B. (i) Qg, \l_o
. {1]1} Q/
D. (iv). C?
N
(,hnmé up of substances where all the three are
H&Q’lﬂ \\
thpaste, clover, wood ash.

L B Wood ash, sour milk, vinegar.
@ € Lemon juice, toothpaste, baking powder.
\ D. Clover, vinegar, sour milk.

<<
422 Which one of the following represents the correct

arder of stages in the life cycle of a butterfly?

A. Adult — egg — larva — pupa.

B. Egg — pupa — larva — adult.

. Egg -+ larva — pupa — adult.

D. Adult — egg — pupa - larva.

Which one of the following plants has separate male §
and female flowers!?

A. Sorghum.

B. Maize.

C. Oranges.

[D. Sisal

\6

g

&

24.

Steam can be used to drive a wheel as in the set up
shown in the diagram below.

| 2s.

| 26.

21

28.

L

e Small hole

Tin can with water

f_,,..rrHeal

Which one of the i‘n]]uw:ng (ANN(H‘ increase the
speed of the rotating wheel?

A Using blades made from lighter materm]

B. Increasing the size of blades.

C. Increasing the size ol the small hole.

. Increasing the amount of heat.

Which one of the following i a CORRECT

statement about pulleys? Pulleys

A. increase friction

B reduce the weight of the load
C. change direction of force

. ificrease speed.

Which one of the following is an example of force?

A, Weight,
B. Energy.
C. Pressure.
D Work.

Which one of the
an inclined plane?

following is NOT an example of

A. Crowbar.

B. Staircase.

C. Wedge.

D. Screw.

Which one of the following will NOT change when
loam soil is added ro sandy sonl!

A. Texture.

B. Capillanty.

. Colour.

D. Fertility.
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29. Choose a pair where any of the methods can be uﬁ 3. During the growth of a tadpol& the following parts
for making water safe for drinking. (\6 develop in stages.
A. Addition of chemicals, filtration. Q (i) Hind limbs.
B. Decantation, boiling. {ii} Lungs. -
= Bﬂl].'ll:l.g. addition -of chemicais. Q, (Q (iii) Front limbs.
D.- F;h‘.ratlun decantation. Q’D-Q (’ {iv) External gills.
30. The \} (v) Tail
B pli:::; below represents a s;ﬁp @I classification The b e S Sl e et
& A @), (), (v), G, Gi)
\%p B. (i), (i), (i), (iv), (v)
R C. (v, Gv), (i), (0), (iii)
bg}‘\l_cﬁ D. . (i), (iii). Gv). (i), (v).
<& MNon- i
6@:{'@ _ i 35, A plastic cup was inverted over water in a basin as
I_—_‘*I shown in the diagram below. It was observed that
l 2 \ § I Y Yeast the water did not enter the cup.
& \g Mon-flowerin :
4 Plastic cup
2 ;IQ
AN Basin
QO\Tu@\lu X Cedar
H Water
Which plants are represented by X and Y?
X Y ;
Which one of the following could be done to make
A. Cypress Mushroom water enter the cup? = o
B. Sugarcane Toadstool A. Pushing the cup to l:he bottom,
C. Moss Fern B. Adding more water to the basin.
D. Grass Bread mould C. Reducing the size of the'cup by cutting.
. Making a hole at the bottom of the cup.
31. The tips of thread-like structures found in the maize
cob are : - 36. In which of the following activities can CORRECT
A. anthers CONCLUSION be drawn about evaporation of
B. filaments equal amounts of waler and spirit?”
C. styles A_ Putting the liquids in bottle tops and plaung
D. stigmas. both in the sun.
: B. Putting one liquid in a bottle top and the other
32. Which one of the following helps a cactus plant in a shoe polish tin lid then placing the two in
reduce loss of water? the sun.
A, Deep roots. C. Putting the liquids in bottle tops then placing
B. Swollen stem. one in the sun and heating the other with a
C. Thorn-like leaves. candle.
D. Green stem. >, Putting one liquid in a bottle top and the other
in a shoe polish tin lid then heating both of
33. Which one of the following pairs of insects has a them with a candie.
larva stage in their life cycle?
A. Moth and bee. 37. Which one of the following is NOT TRUE about
B. Housefly and cockroach. pressure exerted by liquids?
C. Mosquito and grasshopper. Pressure in liguids increases when the
D. Termite and locust. A, amount of liquid is increased
B. diameter of container is reduced
C. depth of liquid is increased
D. container with liguid is raised.
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41.

Which one of the following is a difference bi@‘t&ﬂ

solids and gases? (o2

A Solids have mass whereas gases do g cﬁ:z

B Solids have defimte shape wherea ’Q ;é? not.

. Solids have definite shape wQQcas(ﬁrw,s take
the shape of the container. \'

D. Solids can change 1o whereas gases
cannot change 1o hquug Q

When lime powder @s @ﬁu! with juice obtamed

from hibiscus flg Qr:hanged colour. Which of

the followin @l@&mﬂ:h WOULD NOT make

hibiscus % JQ?A change to the same colour?

A Wcl\l_ v::-ri“‘ash. ;

B. ;"%Jr rg@

C,, Baking powder.

L?‘CJH:\HR dust.

e .

@he diagram below represents a lever inuse.

The load would be moved with least effort if the
distance is increased betwesn points

A Jand M
B: K and L
C. Kand M
. Jand K.

Which one of the following pairs consists of the
smallest planet and the largest planet in the solar
system?

A Earth and Mars.

B. Mercury and Jupiter.

C. Venus and Uranus.

. Pluto and Saturn,

'

[
] i'l"ucsday

she ol
[Wednesday] /5~ 'V

- 42. The chart below represents a weather record for four

days.

[ ' M NG OON___|
| DAY MORNING _ AFTERNOON |
» .00 - 10,00 10,00 — 1200812, 00— 2.00] 2.00 - 4.04

1 ] e /f e
annday G r(-fl. o= P

SR FTar

rn'i

Gl 4 ol s d il

|

I

|

: :i_ x | zr>-:,; ﬁ |’—|

_

__l__

] ~—F .i"'l
'-"—--t-g’-'

IThL‘. rsday

44.

Sunshine
Clouds

Fain

Windy

Calm

L'

On which day did it rain immediately after being
windy?

A, Monday.

B. Tuesday.

C. Weédnesday.
D. Thursday.

Which one of the following pairs of forms of ensrgy
can be transmitted only when there is a medium?

A Heatand light.

B. Sound and electricity.

C. Sound and light.

. Heat and electricity.

The following are functions of stems.
(i1 Support the shoot.

{ii} Storage of food.

{11) Transport water o the leaves.
(iv) Manufacture food for the plant.

Which functions are performed by all stems?
A. (i) and ().

B. (i} and (iv).

C. (i) and (i)

0. (i) and (v).
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45, The dingram below represents a pulley system i@, use.

£

- A Effort

the foliowing statements is true about
the distance moved by the load and the t:ﬁr.un ?

4\

The distance the load moves is

A, three times the distance moved by theépeffort
B. twice the distance moved by the effort

C. ‘the same distance as that movdd by the effort
[D. half the distance moved by the effort.

Which one of the following pairs of drugs consists of
a stiimulant and a depressant?

A. Khat and tobacco.

BE. Cocaine and alcohol. :

C. Cobbler’s glue and heéroin.

. Bhang and CaiTein.

47 .“thch ul‘ thc fo]]owmg z.uhul:mce:x is pl’Dhlb]lLd in
Kenya when used as a drug?
A. Beer.
B. Khat.
C. Tobacco.
D. Cobbler's glue,
48. The activities below are carried out when separating

a mixture of salt, iron filings and sand but not in
their correct order.

(i) Filter the mixture through a sieve.

{11} Add water to the mixture.

(111} Leave mixture in the sun,

(iv) Pass a magnet through the mixture.

The correct order of activities is

Ao (i), (i), (1), (1)
B. (ii), iii), (i), (iv)
C. (i), (i), (i), ()
D. (iv). (i), (i), (iii).

49

%

49, When a L&nﬁ%aﬁ?gté’hmﬂc f"IIEEi with gd;den “soil
and water was shaken “and“léft to stand,
formed.

lavers

The order in which the layers formed depended o
A density of componsnts

B, amount of water
. size of components
D, mass of components

50.

Which® one ‘of the following statements is MNOT true
about Bhang and Khat?, :
Both -
A, are addictive drugs

B. are from-plant material
C. are prohibited drugs
D

. affect the nervous syswem
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